Lecture 6.2: Exponential response, Bode plots e ™ 2 NQ v & L‘
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-FIGURE 6.2
{(a} Magnitude and {b}
phase of Eq. (6.7)
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FIGURE 6.8
Compaosite plots:
(a) magnitude;
(b) phase;

(¢) approximate phase

Magnitude, |G|

Phase, £ G

Phase, 2. G

1000

0.1

Oo

- 18¢0°

0°
—30°
—60°
-90°
—120°
—150°
—180°

{)ﬁl'f—?l( O ct-,v.f\of'#%, \f N«“‘LOJ

. 80
)
Slope = —1 E
\k | |- Actual magnitude curve £
; t—t t—t 3
A, | Slope = @ fxsymptc;tes 50 a8
~
~L U
. Slope = —1
0
0.1 1.0 10 Nvoo -
Slope = —
| ’ ] =20
05 10 50,
.
Breakpoints
w (rad/sec)
(a)
I 1
i 5105+
2] T
_""\ e
%_\ ¥
ol - \\; T~ -
-n.\ \
x\\\ Compaosite
T INNL
s/p0 + 1 N ~
! S —
0.1 1.0 10 100 1000
a {rad/sec)
(b)
5
e ; —
[ lApprox:male
AT\
f | \
——-?—/{_ -! ‘-n -
T
!‘ \: Actual
= N
i
] I
: l— - “\‘h‘—_
0.1 0.51.0 10 50100 1000
w {rad/sec)
{c)

353






